PROGRAM:	1720S TERM: 01/01/08 TO 12/31/08						Τ
TITLE:	THE MERCURY						T
ITEM NO.	DESCRIPTION	*	BASIS OF	*	COLOR Q		*
		*	AWARD	*	Miamisburg, OH		*
		*		*	UNIT RATE	COST	*
I.	ELECTRONIC PREPRESS:	*		*		\$0.00	*
(a)	Trim/Page-size unitper trim/page-size unit	*	152	*	\$15.00	\$2,280.00	*
(b)	SWOP certified digital proofsper trim/page-size unit	*	152	*	\$15.00	\$2,280.00	*
(c)	Content proofsper trim/page-size unit	*	152	*	\$15.00	\$2,280.00	*
(d)	System Timeworkper hour	*	4	*	\$95.00	\$380.00	*
II.	PRINTING AND BINDING:	*		*		\$0.00	*
(a)	Printing 4-color processper trim/page-size unit	*		*		\$0.00	*
(1)	Makeready and/or setup	*	152	*	\$131.00	\$19,912.00	*
(2)	Running per 1,000 copies	*	4028	*	\$112.00	\$451,136.00	*
III.	PAPER:	*		*		\$0.00	*
(a)	White No. 1 Coated Text,	*		*		\$0.00	*
	Gloss Finish (70 lb.)per 1,000 leaves	*	2014	*	\$26.50	\$53,371.00	*
IV:	PACKING:	*		*		\$0.00	*
	Mailing: Includes affixing labels and delivery to a Post Ofc:	*		*		\$0.00	*
(a)	Single or multiple copies in	*		*		\$0.00	*
	kraft envelopes - up to 1 lb each envelope	*	15420	*	\$0.38	\$5,859.60	*
(b)	Multiple copies in bags - over 1 lb. to 5 lbs.	*		*		\$0.00	*
	gross weight, or in small containers - up to 14 lbs.	*		*		\$0.00	*
	gross weighteach bag or container	*	540	*	\$1.00	\$540.00	*
(c)	Multiple copies in shipping containers - over 14 lbs.	*		*		\$0.00	*
	up to 27 lbs. gross weighteach container	*	2340	*	\$0.75	\$1,755.00	*
(d)	Multiple copies in shipping containers - over 27 lbs.	*		*		\$0.00	*
	up to 40 lbs. gross weighteach container	*	240	*	\$3.00	\$720.00	*
		*		*		\$0.00	*
		*		*		\$0.00	*
	CONTRACTOR TOTALS	*		*		\$540,513.60	*
	DISCOUNT	*		*	5.00%	\$27,025.68	*
	DISCOUNTED TOTALS	*		*		\$513,487.92	*

			INDEPENDENT			LAWSON	
GRAFIKSHOP		*	RESOLUTION		*	PRINTERS, INC.	
Houston, TX		*	Stockbridge, GA		*	Battle Creek, MI	
UNIT RATE	COST	*	UNIT RATE	COST	*	UNIT RATE	COST
	\$0.00	*		\$0.00	*		\$0.00
\$24.00	\$3,648.00	*	\$6,298.59	\$957,385.68	*	\$9.95	\$1,512.40
\$30.00	\$4,560.00	*	\$12,897.26	\$1,960,383.52	*	\$7.30	\$1,109.60
\$5.00	\$760.00	*	\$4,947.49	\$752,018.48	*	\$7.30	\$1,109.60
\$50.00	\$200.00	*	\$150.00	\$600.00	*	\$85.00	\$340.00
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$120.00	\$18,240.00	*	\$2,500.00	\$380,000.00	*	\$141.90	\$21,568.80
\$20.00	\$80,560.00	*	\$10,245.78	\$41,270,001.84	*	\$14.65	\$59,010.20
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$24.00	\$48,336.00	*	\$1,745.98	\$3,516,403.72	*	\$21.95	\$44,207.30
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$0.50	\$7,710.00	*	\$4,587.15	\$70,733,853.00	*	\$0.51	\$7,864.20
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
\$1.50	\$810.00	*	\$4,325.47	\$2,335,753.80	*	\$0.95	\$513.00
	\$0.00	*		\$0.00	*		\$0.00
\$2.50	\$5,850.00	*	\$5,789.54	\$13,547,523.60	*	\$1.50	\$3,510.00
	\$0.00	*		\$0.00	*		\$0.00
\$3.50	\$840.00	*	\$6,159.84	\$1,478,361.60	*	\$1.75	\$420.00
	\$0.00	*		\$0.00	*		\$0.00
	\$0.00	*		\$0.00	*		\$0.00
	\$171,514.00	*		\$136,932,285.24	*		\$141,165.10
1.00%	\$1,715.14	*	0.00%	\$0.00	*	0.00%	\$0.00
	\$169,798.86	*		\$136,932,285.24	*		\$141,165.10

\$0.00 * \$0.00		1	-					1 1	
MCDONALD & FUDY					-			$\vdash \vdash$	
MCDONALD & FUDY			NIAGADA		+			++	TINITIONAL
Temple Hills, MD	MCDONALD & FUDY	-1-			 	NDG ING		ļ.,	
UNIT RATE									
\$6.00 \$912.00 * \$50.00 \$7,600.00 * \$120.00 \$1,824.00 * \$39.60 \$80.00 \$1,216.00 * \$30.00 \$4,560.00 * \$25.00 \$3,800.00 * \$40.00 \$1,216.00 * \$30.00 \$4,560.00 * \$25.00 \$3,800.00 * \$40.00 \$1,216.00 * \$30.00 \$4,560.00 * \$25.00 \$3,800.00 * \$40.00 \$1,216.00 * \$30.00 \$40.00 * \$40.00 \$40.00 * \$40.00 \$40.0					1		2025	\bot	
\$6.00 \$912.00 * \$50.00 \$7,600.00 * \$12.00 \$1,824.00 * \$39.60 \$8.00 \$1,216.00 * \$30.00 \$4,560.00 * \$25.00 \$3,800.00 * \$4.00 \$1.75 \$266.00 * \$6.00 \$912.00 * \$6.00 \$912.00 * \$50.00 \$19.20 * \$50.00 \$10.00 * \$75.00 \$10.00 * \$75.00 \$10.00 * \$1.75 \$20.00 * \$1.00 * \$1.75 \$1.00 \$10.00 * \$1.00 *	UNIT RATE	1 1	UNIT RATE			UNIT RATE			UNIT RATE
\$8.00 \$1,216.00 * \$30.00 \$4,560.00 * \$25.00 \$3,800.00 * \$4.00 \$11.75 \$266.00 * \$6.00 \$912.00 * \$6.00 \$912.00 * \$50.5 \$75.00 \$300.00 * \$30.00 \$120.00 * \$50.00 \$200.00 * \$75.50 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$75.00 \$130.00 \$19,760.00 * \$125.00 \$19,000.00 * \$75.00 \$11,400.00 * \$171.99 \$10.85 \$43,703.80 * \$7.04 \$28,3871.12 * \$8.25 \$33,231.00 * \$6.50 \$18.75 \$37,762.50 * \$15.60 \$31,418.40 * \$22.75 \$45,818.50 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$0.00 * \$16.47 \$0.00 * \$1								\vdash	
\$1.75 \$266.00 * \$6.00 \$912.00 * \$6.00 \$912.00 * \$50.55 \$75.00 \$300.00 * \$300.00 * \$300.00 * \$300.00 * \$300.00 * \$50.00 \$200.00 * \$75.56 \$0.00 * \$0.0								\bot	
\$75.00 \$300.00 * \$300.00 * \$50.00 \$200.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$0.00 * \$75.50 \$130.00 \$19,760.00 * \$125.00 \$19,000.00 * \$75.00 \$11,400.00 * \$171.90 \$10.85 \$43,703.80 * \$75.00 \$19,000.00 * \$75.00 \$11,400.00 * \$171.90 \$10.85 \$43,703.80 * \$75.00 \$10.85 \$10.85 \$43,703.80 * \$75.00 \$10.80 \$10		φ1,210.00			11			1	
\$0.00 * \$0.00									
\$130.00	\$75.00	φουυ.υυ	\$30.00	<u> </u>		\$50.00	<u>'</u>		\$75.56
\$130.00 \$19,760.00 * \$125.00 \$19,000.00 * \$75.00 \$11,400.00 * \$171.99 \$10.85 \$43,703.80 * \$70.4 \$28,357.12 * \$8.25 \$33,231.00 * \$6.56 \$6.56 \$0.00 * \$0		φυ.υυ			4-4				
\$10.85 \$43,703.80 * \$7.04 \$28,357.12 * \$8.25 \$33,231.00 * \$6.56 \$0.00 * \$0.00		φυ.υυ		-	1				
\$0.00 * \$0.00				· · · · · · · · · · · · · · · · · · ·	4			\bot	
\$0.00 * \$18.75 \$37,762.50 * \$15.60 \$31,418.40 * \$22.75 \$45,818.50 * \$16.47 \$0.00 * \$0.	\$10.85		\$7.04			\$8.25			\$6.56
\$18.75 \$37,762.50 * \$15.60 \$31,418.40 * \$22.75 \$45,818.50 * \$16.47 \$0.00 * \$0.									
\$0.00 * \$0.00					*			*	
\$0.00 * \$0.00	\$18.75	\$37,762.50 *	\$15.60	\$31,418.40	*	\$22.75	\$45,818.50	*	\$16.47
\$0.00 * \$0.00 * \$0.00 * \$0.35 \$5,397.00 * \$0.35 \$5,397.00 * \$0.28 \$0.00 * \$0.0		\$0.00 *		\$0.00	*		\$0.00	*	
\$0.20 \$3,084.00 * \$0.35 \$5,397.00 * \$0.26 \$0.00 * \$0.0		\$0.00 *		\$0.00	*			*	
\$0.20 \$0.00		\$0.00 *		\$0.00	*		\$0.00	*	
\$0.00	\$0.20	\$3,084.00 *	\$0.35	\$5,397.00	*	\$0.35	\$5,397.00	*	\$0.28
\$0.85 \$459.00 * \$0.60 \$324.00 * \$0.80 \$432.00 * \$1.77 \$0.00 * \$1.35 \$3,159.00 * \$1.35 \$0.80 \$1,872.00 * \$1.00 \$2,340.00 * \$1.77 \$0.00 * \$1.77		\$0.00 *		\$0.00	*		\$0.00	*	
\$0.00 * \$0.00 * \$0.80 \$1,872.00 * \$1.00 \$2,340.00 * \$1.77 \$1.79 \$1		\$0.00 *		\$0.00	*		\$0.00	*	
\$1.35 \$3,159.00 * \$0.80 \$1,872.00 * \$1.00 \$2,340.00 * \$1.75 \$0.00 * \$1.75 \$420.00 * \$1.00 \$240.00 * \$1.35 \$324.00 * \$1.75 \$0.00 * \$1.00 \$2,000 * \$1.75 \$0.00 * \$1.10 \$2,000 * \$1.10 \$2,000 * \$1.10 \$1.	\$0.85	\$459.00 *	\$0.60	\$324.00	*	\$0.80	\$432.00	*	\$1.71
\$0.00 * \$0.00 * \$1.75 \$420.00 * \$1.00 \$240.00 * \$1.35 \$324.00 * \$1.75 \$0		\$0.00 *		\$0.00	*		\$0.00	*	
\$1.75 \$420.00 * \$1.00 \$240.00 * \$1.35 \$324.00 * \$1.75 \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$111,042.30 * \$1.00% \$1,110.42 * \$2.00% \$1,996.01 * \$0.25% \$264.20 * \$105,414.30 * \$109,931.88 * \$97,804.51 * \$105,414.30 *	\$1.35	\$3,159.00 *	\$0.80	\$1,872.00	*	\$1.00	\$2,340.00	*	\$1.71
\$1.75 \$420.00 *		\$0.00 *		\$0.00	*		\$0.00	*	
\$0.00 * \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$0.00 * \$111,042.30 * \$99,800.52 * \$105,678.50 * \$109,931.88 * \$97,804.51 * \$105,414.30 *	\$1.75	\$420.00 *	\$1.00	\$240.00	*	\$1.35		*	\$1.71
\$111,042.30	·	\$0.00 *		\$0.00	*	·	<u>-</u>	*	
\$111,042.30		\$0.00 *		\$0.00	*		\$0.00	*	
1.00% \$1,110.42 * 2.00% \$1,996.01 * 0.25% \$264.20 * 1.009 \$109,931.88 * \$97,804.51 * \$105,414.30 *								*	
\$109,931.88 * \$97,804.51 * \$105,414.30 *	1.00%		2.00%		*	0.25%		*	1.00%
	1.3070		2.0070		*	J. 2 070		*	2,0070
AWADDED		+-50,002.00		+0.,001.01			+-00,111100	\Box	
AWARDED				AWARDED	$\dagger \dagger$			$\dagger \dagger$	

			-
	*	PREVIOUS	*
	*	CONTRACTOR	*
COST	*	UNIT RATE COST	*
\$0.00	*	\$0.00	*
\$6,026.80	*	\$42.00 \$6,384.00	*
\$611.04	*	\$28.00 \$4,256.00	*
\$7,677.52	*	\$12.00 \$1,824.00 \$12.00 \$1,824.00	*
\$302.24	*	\$12.00 \$1,824.00 \$65.00 \$260.00	*
\$0.00	*	\$0.00	*
\$0.00	*	\$0.00	*
\$26,142.48	*	\$97.40 \$14,804.80	*
\$26,423.68	*	\$8.63 \$34,761.64	*
\$0.00	*	\$0.00	*
\$0.00	*	\$0.00	*
\$33,170.58	*	\$8.26 \$16,635.64	*
\$0.00	*	\$0.20 \$10,033.04	*
\$0.00	*	\$0.00	*
\$0.00	*	\$0.00	*
\$4,317.60	*	\$0.30 \$4,626.00	*
\$0.00	*	\$0.00	*
\$0.00	*	\$0.00	*
\$923.40	*	\$0.85 \$459.00	*
\$0.00	*	\$0.00	*
\$4,001.40	*	\$1.80 \$4,212.00	*
\$0.00	*	\$0.00	*
\$410.40	*	\$2.25 \$540.00	*
\$0.00	*	\$0.00	*
\$0.00	*	\$0.00	*
\$110,007.14	*	\$88,763.08	*
\$1,100.07	*	5.00% \$4,438.15	*
\$108,907.07	*	\$84,324.93	*